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A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I =(2u™ 430"+ +b— 1, + 390+ fa+ 1, w200 1)
=(-u®+u?+b—2u+1, v +3u®+a+1, v’ —u*+4u® —3u®+3u—1)

* 2 irreducible components of dim¢ = 0, with total 66 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.

I = (2u"%4-3u®® 4. .-+ b—1, u®°+39u®+-.-+a+1, ub'4+2u0+..

(i) Arc colorings

o= )

0
ail = \u
—ub0 — 39458 ... —u2—1
g = \ —2¢% — 38 4+ ... 4 2u+1
1
ag == u
w? + 6u” + 11u® + 6u® + u
ag = \ —y? —5u” — Tu® —2ud +u
—u
u
u0—2u59—|— — 3ud — u?
az = —u® 2u57+ Fu+1
uw?+1
a6 = u2
ud — 2u
ap = u3 +u
o= (wh)
—ub —3ut+1
a5 = \ —y8 — 4% — 4ot — 202
—ub0 — %% 203 — 202
az = \ —® — 248 ... 4+ 2u+1
(ii) Obstruction class = —1
(iii) Cusp Shapes = 1% + 245 + ... — 13u — 14

-—u—1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! ubt 4 28u50 4 4 25u 4 1

Co,Cy w —6u w1

C3,Cs uSt — w0 4320+ 32
Cs u®t —2u% + -+ + 3487u + 389

€6, C7, C10 wbl — 2450 1. 1

C11,C12

€9 u®t + 8uf0 4 -+ 4 6443u + 1751




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

a1 Y%+ 169%° + - 41049y — 1

C2,Cq Yot —28y%0 4 ... 425y — 1

¢s, Cs Y%t 4+ 33450 ... — 9728y — 1024
Cs Y% +16y%° + - + 1506015y — 151321

Cg,C7,C10 y61+80y60+~~+7yf1

C11,C12

¢ 61 60
9 Yol 4 28y°Y 4 - - - — 9774541y — 3066001




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.254354 4 0.9811031
a = —1.25198 — 2.546711
b= 10.07492 + 2.008611

1.22942 + 3.299691

u = —0.254354 — 0.9811031
—1.25198 + 2.546711
b= 10.07492 — 2.008611

1.22942 — 3.299691

uw= 0.211321 4+ 1.0017701
a = —0.322034 — 0.8757851
b= —0.289419 + 0.6575471

3.12919 — 1.336171

uw= 0.211321 —1.0017701
a = —0.322034 + 0.8757851
—0.289419 — 0.6575471

3.12919 4 1.336171

0.281128 4+ 0.9973711
0.582713 + 0.7894021
0.070322 — 0.7618611

2.34136 — 5.738801

0.281128 — 0.9973711
0.582713 — 0.7894021
= 0.070322 + 0.7618611

2.34136 + 5.738801

—0.328410 + 1.0129201
= —1.51065 — 2.038631

5.15125 4 11.896401

—0.328410 — 1.0129207
—1.51065 + 2.038631
0.68097 — 1.627571

5.15125 — 11.896401

—0.302074 + 1.0254301
= 1.38727 + 2.073381
—0.49004 — 1.578641

7.28412 + 6.155591

—0.302074 — 1.0254301
= 1.38727 —2.073381

b
U
a
b
U
a
b
U
a
b= 0.68097 + 1.627571
U
a
b
U
a
b
U
a
b= —0.49004 + 1.578641

7.28412 — 6.155591




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

0.316983 + 0.8662771
0.824553 + 0.1323211
—0.397869 — 0.4558851

1.00389 — 1.1618471

0.316983 — 0.8662771
0.824553 — 0.1323211
—0.397869 + 0.4558851

1.00389 + 1.161841

—0.207432 4 1.0739201
0.85102 + 1.880631
0.092713 — 1.1586601

8.38349 4 1.966021

—0.207432 — 1.0739201
0.85102 — 1.880631
0.092713 + 1.1586601

8.38349 — 1.966021

—0.156803 + 1.0970101
—0.65117 — 1.693421
—0.278390 + 0.9456451

7.08755 — 3.730901

—0.156803 — 1.0970101
—0.65117 4 1.693421
—0.278390 — 0.9456451

7.08755 + 3.730901

0.148119 + 0.8450431
0.414383 — 0.7138101
—0.575491 4 0.1567471

1.88176 — 1.606821

—5.29446 + 5.040551

0.148119 — 0.8450431
0.414383 + 0.7138101
—0.575491 — 0.1567471

1.88176 + 1.606821

—5.29446 — 5.040551

0.325121 + 0.7384931
—1.089280 + 0.3462971
0.705617 + 0.2831881

0.29625 — 4.768421

—9.08610 + 8.217021

0.325121 — 0.7384931
—1.089280 — 0.3462971
= 0.705617 — 0.2831881

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

0.29625 4 4.768421

—9.08610 — 8.217021




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —0.092397 + 0.6936871
= —1.029970 + 0.9137931
= 1.174630 + 0.2331121

—0.987120 + 0.9885161

—11.84015 — 0.122871

= —0.092397 — 0.6936871
= —1.029970 — 0.9137931
= 1.174630 — 0.233112]

—0.987120 — 0.9885161

—11.84015 + 0.122871

= —0.429667 + 0.4667871
= 0.300862 — 0.0061101
= 0.537163 + 1.0812801

2.11665 — 5.586401

—9.13002 + 1.985201

= —0.429667 — 0.4667871
= 0.300862 + 0.0061101
= 0.537163 — 1.0812807

2.11665 + 5.586401

—9.13002 — 1.985201

= —0.556702 + 0.2245421
2.03671 4 0.316391
= —0.005895 + 0.7911761

1.32668 + 8.887171

—11.5386 — 8.50261

—0.556702 — 0.2245421
2.03671 — 0.316391
—0.005895 — 0.7911761

1.32668 — 8.887171

—11.5386 + 8.50261

= —0.437350 + 0.3913781
= —0.666219 — 0.2601711
= —0.393377 — 0.9878121

3.80352 — 0.176141

—6.56300 — 3.195141

= —0.437350 — 0.3913781
= —0.666219 + 0.2601711
= —0.393377 + 0.9878121

3.80352 + 0.176141

—6.56300 + 3.195141

= —0.523029 + 0.2534211
= —1.74252 — 0.414411
= —0.088899 — 0.8414621

3.32476 + 3.345521

—8.30796 — 4.535721

= —0.523029 — 0.2534211
= —1.74252 + 0.414411
= —0.088899 + 0.8414621

3.32476 — 3.345521

—8.30796 + 4.535721




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= 0.544484 + 0.0511261
= 0.271290 — 1.2604501
= —0.152520 + 0.5349841

—1.77296 + 1.776371

—13.44810 — 3.426361

= 0.544484 — 0.0511261
= 0.271290 + 1.2604501
—0.152520 — 0.5349841

—1.77296 — 1.776371

—13.44810 + 3.426361

0.479319 + 0.2110891
0.97175 — 1.133771
= —0.539313 + 0.3420451

—1.38873 — 3.135751

—13.6527 + 6.66451

= 0.479319 — 0.2110891
= 097175+ 1.133771
= —0.539313 — 0.3420451

—1.38873 + 3.135751

—13.6527 — 6.66451

= —0.425241 + 0.1710061
1.80164 + 1.526411
0.240942 + 0.6944881

—2.33602 + 0.954541

—12.3987 — 7.02891

—0.425241 — 0.1710061
1.80164 — 1.526411
0.240942 — 0.6944881

—2.33602 — 0.954541

—12.3987 + 7.02891

0.307712 4 0.3171361
= —1.21859 + 0.961641
= 0.621069 — 0.0326001

—0.798120 + 0.5096591

—11.36907 4 1.746161

= 0.307712 — 0.3171361
= —1.21859 — 0.961641
= 0.621069 + 0.0326001

—0.798120 — 0.5096591

—11.36907 — 1.746161

= 0.04390 + 1.643711

= —1.69900 — 0.691171

= 0.471528 — 0.5894811 8.54157 — 5.928971 0
= —1.69900 + 0.691171
= 0.04390 — 1.643711
= 0.471528 + 0.5894811 8.54157 + 5.928971 0




b:

1.25059 + 1.178341

Solutions to I V—1(vol + /—1CS) Cusp shape
u = —0.00808 4 1.668231
a= 0.636613 —0.9614331 7.54962 + 1.223211 0
b= —2.50286 + 1.989171
u = —0.00808 — 1.668231
a= 0.636613 + 0.9614331 7.54962 — 1.223211 0
b= —2.50286 — 1.989171
u= 0.07133 4+ 1.681371
a = —0.481555 + 0.2185531 9.95685 — 2.591581 0
b= 1.133360 + 0.0002841
u= 0.07133 — 1.681371
a = —0.481555 — 0.2185531 9.95685 + 2.591581 0
b= 1.133360 — 0.0002841
u=0.02693 + 1.683331
a = —0.182151 4+ 0.7612851 10.86580 — 2.213771 0
b= 1.04861 — 1.564951
u= 0.02693 — 1.683331
a = —0.182151 — 0.7612851 10.86580 + 2.213771 0
b= 1.04861 + 1.564951
u = 0.316056
a = —1.09435 —0.608532 —16.3260
b= 0.309110
u = —0.06576 + 1.715711
a= 0.82473 + 2.575111 10.82330 + 4.582481 0
b= —2.07010 — 6.768031
u = —0.06576 — 1.715711
a= 0.82473 — 2.575111 10.82330 — 4.582481 0
b= —2.07010 + 6.768031
u= 0.07278 + 1.719031
a = —0.769346 — 0.3371311 11.99390 — 7.163641 0




Solutions to I} V—1(vol +1/=1CS) | Cusp shape
u= 0.07278 — 1.719031
a = —0.769346 4+ 0.3371311 11.99390 + 7.163641 0
b= 1.25059 — 1.178341
u= 0.05627 + 1.720191
a= 0.607773 4 0.5563021 12.83490 — 2.429111 0
b= —0.85094 — 1.517071
u= 0.05627 — 1.720191
a= 0.607773 — 0.5563021 12.83490 + 2.429117 0
b= —0.85094 + 1.517071
u = —0.08659 + 1.722531
a= 0.88576 + 2.176431 14.8480 + 13.58081 0
b= —2.64835 — 5.435571
u = —0.08659 — 1.722531
a= 0.88576 —2.176431 14.8480 — 13.58081 0
b= —2.64835 + 5.435571
u = —0.07895 4 1.726281
a = —0.83698 — 2.260907 17.0651 + 7.70831 0
b= 2.34895 + 5.642771
u = —0.07895 — 1.726281
a = —0.83698 + 2.260907 17.0651 — 7.70831 0
b= 2.34895 — 5.642771
u = —0.05183 4+ 1.736891
a = —0.57601 — 2.213291 18.4431 + 3.03041 0
b= 1.15538 + 5.394281
u = —0.05183 — 1.736891
a = —0.57601 + 2.213291 18.4431 — 3.03041 0
b= 1.15538 — 5.394281
u = —0.03876 4+ 1.739351
a= 0.50704 + 2.062267 17.2479 — 2.92691 0

b= —-0.80734 — 4.961121
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Solutions to I} v—1(vol + v/—1CS) | Cusp shape
u = —0.03876 — 1.739351
a= 0.50704 —2.06226] 17.2479 + 2.92691 0

b= —0.80734 + 4.961121
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II.
Id=(—u¥+u’+b—2u+1, u*+3u’+a+1, v’ —u*+4u3 —3u? + 3u—1)

(i) Arc colorings

—ut —3u? -1
w—u?+2u—1

—ut —u? —3u? - 2u—1
az = 2u? —u? +3u—1

(ii) Obstruction class =1

(iii) Cusp Shapes = —3u* + 3u?® — 12u? + 10u — 19

12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, C2 (u—1)°
C3,C8 u®
Cy (u + 1)5
C5,C9 ub—ut 4wt u—1
Ce, C7 u® —ut +4u® — 3u® + 3u—1
: 5 4 3 2
€10, €11, C12 u” +u” 4+ 4u” +3u” +3u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
C3,C8 y5
Cs,Cy -yt 4yt -3t 3y —1
CLETE0 b Tyt 16y + 13y + 3y — 1
C11,C12

14



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

0.233677 + 0.8855571
0.827780 — 0.6376831
b = —0.340036 + 0.8078491

u =

0.17487 — 2.213971

—10.60206 +- 4.052731

0.233677 — 0.8855571
0.827780 + 0.6376831
b = —0.340036 — 0.8078491

a =

0.17487 + 2.213971

—10.60206 — 4.052731

= 0.416284
a = —1.54991 —2.52712 —16.7900
b= —0.268586
= 0.05818 + 1.691281
a = —0.552827 + 0.5341361 9.31336 — 3.331741 | —10.00277 + 3.462991

b= 1.47433 —1.63485]

0.05818 — 1.691281
a = —0.552827 — 0.5341361
b= 1.47433 4 1.63485]

9.31336 + 3.331741

—10.00277 — 3.462991
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ((u—1)%)(u8" + 28u%0 + - - + 25u + 1)
c2 ((w=1)°) (@ = 6u™ +--- +u+1)
c3, Cg u® (u®t — w0 4 - 32u + 32)
€ ((w+1)°) (@ = 6u® +--- +u+1)
cs (u® —u* +u? +u— 1) (u® —2u%0 4 - + 3487u + 389)
C6, C7 (u® —u* + 4u® — 3u® 4 3u — 1) (u® = 2u0 + - —wu 1)
Co (u® —u* + u® +u—1)(u®" +8u® + - + 6443u + 1751)
€10, C11, C12 (u® +u* + 4u® + 3u® + 3u+ 1) (u — 200 - — w4 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1 ((y — 1)®)(y° + 16y% + - - + 1049y — 1)
C2,¢4 ((y = 1)°) (™ — 28y + - + 25y — 1)
¢s, Cs v (y®r +33y%°0 + ... — 9728y — 1024)
cs (v° —y' +4y° = 3y> + 3y — 1)
(Y5t 4 16y5° + - - - 4+ 1506015y — 151321)
C6,C7, C10 (y5 + 7y4 + 16y3 + 13y2 + By _ 1)(y61 + 80y60 et 7y _ 1)
C11,C12
co (v —y' +4y° = 3y* + 3y — 1)

(Y +28y%0 + ... — 9774541y — 3066001)

17



